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1 [bookmark: _Ref124589705][bookmark: _Ref129681862]Introduction
For TBS determination as specified in TS 38.214, there is an intermediate number of information bits (Ninfo). It is not clear whether it is an integer number or a floating number, which may lead to different TB size. It is necessary to have a common understanding in RAN1.
2 Discussion 

For TBS determination, there is an intermediate number of information bits (Ninfo), which is obtained by  as described in sub-clause 5.1.3.2 of TS 38.214 [1]. Once Ninfo is obtained, TBS determination may go to different branches, step 3 or step 4.

	
2) Intermediate number of information bits (Ninfo) is obtained by .

If 
Use step 3 as the next step of the TBS determination
else
Use step 4 as the next step of the TBS determination
end if







The parameter R in the equation  is the target code rate from Table 5.1.3.1-1/2/3 for PDSCH in TS 38.214 [1]. According Table 5.1.3.1-1/2/3, R is smaller than 1 hence it is clearly not an integer. The result of  is not an integer. Based on current description, Ninfo is the intermediate number of information bits hence it should be an integer since the number of information bits cannot be a float number. However, the specification does not specify how to quantize  to an integer. It can be floor, ceiling, or round. Different operation may lead to different value of Ninfo and different TBS.




As an example, assume MCS=5, =2, R=379/1024,,=1, then =3824.05078125. 
Understanding 1: Ninfo is a float number. Ninfo = 3824.05078125. Step 4 will be used for TBS determination. Then TBS=3840.

Understanding 2: . Step 3 will be used for TBS determination. Then TBS=3824.

Understanding 3: . Step 4 will be used for TBS determination. Then TBS=3840.

Understanding 4: . Step 3 will be used for TBS determination. Then TBS=3824.

If gNB and UE have different understandings to the determination of , TBS determined at gNB side and at UE side will be different. Then this TB cannot be correctly decoded. 

Proposal: Clarify the understanding of  for TBS determination in RAN1.
.
3 Conclusions

The different understanding to the value of  may lead to different TBS at gNB side and at UE side. We propose to have consensus on this issue in RAN1. 

Proposal: Clarify the understanding of  for TBS determination in RAN1.
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